
DGY51−7N

DGY51−1A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Rot Rd    λd=596nm
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DGY51−2A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Cyanblau Cd    λd=489nm
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DGY51−3A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Gelb Yd    λd=570nm
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DGY51−4A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Blau Bd    λd=463nm
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DGY51−5A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Grün Gd    λd=535nm
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DGY51−6A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Magentarot Md    λc=535cnm
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DGY51−7A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Grün G2d    λd=528nm
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DGY51−8A

Wellenlänge λ /nm Kontrast C=8:1

R2(λ)=log[R(λ)/0,20]=log[R1(λ)] Reflexion
Geräte-Magentarot M2d    λc=528cnm
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